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£ (2) [~,(z? cos’ v+ V4 — a?)dx =
2
R Q) Wy =y(x) HITHE e3y+f0x+y cost?dt = 1 #fsE. M d_g; =
F L7 10,0)
R X X N
) @) ¥ = = floy,ootv), oop £ EAT ISR G4 )
Zay =
@+v* _ 1)dad
GO)YBED : 22 4+y? <2, Herr > 0. U lim A - Jdz y_
r—0t r
4
fRE. (Dx — 0, In(1+2°%) =2 — % +o(z"),sin' z = 2" + o(2*). WHEA = —1.

(3) M X = SR

3y'e® + (1 +y') cos(x +y)* = 0.
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() TR XA FR, WA RS — TR A R, R = 7, VA — 2%d.
ER, MR AR AL BN 2 1 BRI, SR = 2n.




3y"e® +9(y')%e® + v cos(z + y)? — 2(x + y)(1 +¢/)?sin(z + y)* =

4)
fr = yfl + ex+yf2‘
Z:cy = (-Tfll + e$+yf12)y + fl + (xle + e:v+yf22>ex+y + e“’+yf2
= zyfi + (x +y)e*V fio + 2T for + fi + "V £y

(5) FIHRALFR A 2 = pcosl,y = psin 6, NI

// dxdy—27r/0r( # _ 1)pdp = m(e” — 1 —1?).
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. . (K14 47) HLagrangeZe TiEREREL f(x,y, 2) =
R r4+2y+3z BVl o —y+2 =1 MEHH 22+ 42 =11
SR L% B KA.
fif%. MifLagrange pRi%l

L(z,y, 0 p) =2 +2y +32 = Mz —y + 2 = 1) — p(2® + y* = 1).

................................................................ (2 47)
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L,=1—X—-2pz =0,
Ly=2+X—-2py =0,
L,=3-X=0,
r—y+z2—1=0,
\x2+y2—1:0.
v 7H 1 5 > 2 2 ZEl V29 =
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FTCARR AL f PR e i BB 34+ V29, (14 79)
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1 n n
T I;(—l) (z—2)" |o—-2[<1L,
1 = LT —2. T2
HIT_Q:;(—D( =) Il
TRAFE f(2x) /£ v = 2 A K Taylorfie X
1 oo
flz) = ZZ(—l)”( )@ =2t e -2(<]
n=0
............................................................... (10 43)
o= LR SN | S o), ERIBTAE T, K
n=0
S = 30, SN (11— o), EERAETE, R
n=0
FECAZ SO (1,3). (14 43)
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V. (8 14 70) Ko JTi e (2 — y?)da + (2%y +
JELIN
R zy)dy = 0 [PIEfF.
PRI
du 2u 2
“ \}-L - 2 I_” Z2aY F 5 ‘\ - = - I A /\
L. B = g2, MR TR ) ril (6 47)
XA M7 FE R fE
1+a2\° 9
u+(1+2)°=C.
x
R
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(11_37) ¥+ (1+2)?=C
.............................................................. (14 77)
fRR2. JRTRE RGN
xdz + ydy + yw =0,
x
R,
2 2 YN\ _
d(z* 4+ y°) + yd (x) =0
............................................................... (6 77)
PRI RIS BREL /22 + 42, 153
1 d(@®+y°) 1 y (Y _
§'y/x2+y2+ 1—1—(%)2'5.(1(5)_0’
R,
d(va?2+y?) +d ( 1+ (%)2> =0.
I,
/o3 .2
2?4 y% + xT—i—y =C,
R,
(1+2)Vz2+y?=Cx
.............................................................. (14 77)
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3. BRI A ade + ydy + yd Y o, B
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............................................................... (6 77)
A x=rcosl,y=rsind, W r=+/22 +1y2 tanf = Y RN
T
1, .
édr + rsinfdtand = 0,
dr + secftan #df = 0.
A3, r+secl = C.
Helo] AR &, 49 )5 7 RE AR
/3 .2
/12 + y2 + .Z'——Fy =
x
.............................................................. (14 43)
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too fsina\®
@ﬁ%bz/ (x)dm
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. 2
e fsinx 1 5 |t e .
dx = —— .gin“x + — - 2sinz cos zdx
0 T T 0 0 x

Q) a> 08, HEEH s = g 5

an

too fsin(ax)\” 7r
/ dr = —a. Kt
0 2
~+o00 : 3 +oo 400
1 1
/ Sy dx = ——2-sin3x +/ —Q-BSiancosxdx
0 T 2z 0 0 2

sin x sin(2x)d 3 /+°° cos x — cos(3x) q
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N Ny (B 14 57) & f(x)s2 (—oo, +oo) b HAESL:
N7 SHAE R, HAAME M > 0 f[ERNMERR 2,y €
A (—o0, +00), H |f'(z) — f'(y)| < M|z —y|. iEB: X T1EE

FH 2 B (f(2))” < 2M f(2).

WEBA. AEH 2 € (—o0, +00), XEE h € (—o0, +00),H h # 0, {EA

0< f(x+h) = /fx+t

................................................................ (6 93)
0 B () < 0,
h h2
P < 1@ + [ (a0 = Fa)de < fa)+ Mg
Pl < v arty
............................................................... (12 47)
B |h| = /28 B FHERSR (f/(2)? < 2Mf(2).  cooeinn (14 %)



